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6[!е{ ог $црегу!з!п9 аг0|1ег !А !!$аг Ба!агап! 13400223 пцпбег о[ гоцп0э: 9

пцпбег р|ауегз по[ {гоп {!{!е арр!1сап['з [е6ега{|ог 4

пцп0ег р!ауегэ [гогп РтоэЁ Ёе0егаЁ!оп 5
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1.46ь/о 1!1|е $соге

1 ]аг|а5ав! Ёп!гРпап 6350275 тшп 2352 Ём 1

2 йоэа0е9 Р: рош г [т/аэоцё 12519278 |к! 2494 см %

3 А!!а[уег0|уеи Апаг 134о0347
^7Ё

2425 [м 1

4 йшга6!! [4а[агппа0 1 3409301
^7Ё

2454 |м 1

5 $[апауа (опэ{ап1!пе 1 3601 784 сЁо 2538 см 1

6 А[па6аа0а А!тпа0 13413007
^7Ё

243о !м %

7 |!уаз!1 1/9[шг 134161 97 мЁ 2104 2200 см 1

8 8а]агап! 0!т| 1 3403028 А7в 2485 см 0
о [а9[аг [!|о[эеп 1 2502006 !к! 2182 1

Р(а) = 239,6 Рр = 2в16
асс.1.46с !1.46е
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